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AT dodc o SUEMBHEY, =X -X > i=12,...,n R :
(=Y, % B HNV(Y)= 7 (85)
(Z)FERY, > Y,k %s‘iﬁx (Covariance) Cov(Y,,Y,)=9? (84 )
(Z)FRK (Y +Y,) 50727 thiz 8 M ¥F#HK=? (84)
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COFX YN 6?) 5 =120 0 BT E(X,) = Var(X,) = o? » <

Cov(Xi,)_():Cov(xi,—(xl+x2 +o+ X +"'+X”)j
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:%Cov(xi,xi) (WXiﬁ’EUj' » Cov(X;, Xj)=0 > i=]j)

2
:EVar(Xi) =2
n n
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~Var(Y;) = Var(X; — X) = Var(X;) + Var(X) - 2Cov(X;, X) = + —-2.2 =5
n

n

(7)) Cov(Y,,Y,) =Cov(X; — X, X, — X) = Cov(Xy,X,) — Cov(X;, X) — Cov(X, X,) + Cov(X, X)
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(¢} (e} S (e} (e} (¢} (o)
=0-2 -2 yvar(X)=-2-2 42 -2
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(=) E(Y?) = Var(Y,) +[E(Y,))? = 6 (1-%) +(0) =62 (1—%}
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= E(Y,Y,) = Cov(Y,,Y,) + E(Y,)E(Y,) == +0x0=—"-
n n

~LEIK(Y, +Y,)2 )= 0 = K{E(YZ + Y2 +2Y,Y,)} = 6% = K{E(Y?) + E(YZ) + 2E(Y,Y, )} = 6°
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X Xpyeo Xy 5 30 p X2 — 2o Snentg 84k & > R ¢
(- )Fé'lﬁvis}./z (method of moments) KOz gLz & - (124 )
(Z)FME A2 (method of maximum likelihood) &6 z g 3t &

g o (124)
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()FR(ED) T FPAH,: n=80vs. H;: pn=86 8.5 * # % (most powerful test) 2 #
FEBEBRIP? (84)

(Z )% (= )2t TR AL > 32 R38 LP((X, X,,..., X,) €R[Hy ) =P(X > k|H,) =0.05 %
P((Xy, X5, X, ) €R[H,)=P(X2k|H)=095& £ T 2 & % -] n=? 2 & $ £ 4 BR2 Th
k=2 (104)

(Z)EH TIPS Hy n=80vs. H,: >80 » ¥ 4
52 M- %5 4 #% % (uniformly most powerful test) z

] in= 25,F:H» 5 0=0057T >yt ik LR
LEEEERE P2 (84)
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C Y0
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AT )
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L(80) [ j 2x100 p{_;(x ~80)° ‘Z(X 86)}
L(86) { Z(X 86)} 200
[ V2110 ] ~ 2x100
3 X2 1603 X, + 6400 - 2x2+1722x 7396 123X, ~ 996
. = 200 = B T
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200 996 200 996\ _ .
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i=1

Fr gl tggg; <k = g X>K' » fliNeyman-Pearson 2151 » (=i b 48k (5 % [ isiR 1D,
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)R P(X>k|u=80)=0.05= P z>X 8_: =0.05

k—80 10
g —1.645= Kk =80+1.6452 @
0/</n Jn

- Vi k —86
< P(X>k|lu=86)=095=P| Z> =0.95
(X > k| =86) ( 10/Jﬁj
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ZX2—16OZX +6400 - Zx2+2u12x —u? (2u, —160) " X; — (n? —6400)
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= X>k' >

P(X > K' |1 =80) = OO5:P(Z>1k 80) 0.05

0/</n
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o~ &ﬂ%&YEB %%X11X21X31X41X5 f&?ﬁﬁ&fﬁ I A=Y
Y =Bg + By Xy +BaXy +BaX3 + By Xy +BsXs -+ (1)
WERAFTRLE  EFREL 4 R T IINA R 7 (ANOVA) £ ¢

T i G I S =
RERR o DF MS | F
@ ® @ ® |®
AL 200 ® ®
BB 250 45

-l



(1B LEEE |-

(- )iFa s G B BEA 2> TAREIHEFO~O2 E - (64)
(= )z Faf ¥ 2 ik (coefficient of multiple determination) R%=9? (64 )
(Z )30 5a=005" » 2 Hy: B =Py =Ps=Ps =Ps =0 LIHF 2 (T4)
(e )FVE P R X, Xg, X, Xs WA §F > BA LT 2 fr5 SSE=210 » # R #H i (D 7 & T
Ho: P =0 EEH¥? (Pa=005) (74)
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TYRZP=2 = 202
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(Z)LHg By =Py =PB3=P,s=Ps =0
2.H B 72500 i=12,..,5
3.a=0.05
4.C={F|F> Fy45(5,40) = 2.45}
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(P")1.Hq: By =0
2.H,: B, %0
3.a=0.05
4.C={F|F> Fy5(1,40) = 4.08}

B.2FET ¢+ [SSE(Xy, X3, X g, Xs) = 210
SSE(X,, Xy, X5, X, X5) = 200
_[SSE(Xy, X3, X,,Xs5) = SSE(X;, X5, X3, X4, X5)] = [(Nn-5) - (n—6)]  (210-200)+1
- SSE(X,, X5, X3, X4, X5) + (N —6) ~ 200+40
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